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Sr Questions Answers Choice

1 Which is the first calculating device?
A. Analytic engine
B. difference engine
C. Napier's Bones
D. Abacus

2 The number of digits in octal system is:
A. 8
B. 9
C. 6
D. 5

3 How many types of buses are in computer?
A. 2
B. 3
C. 4
D. 5

4 What is the extension for MS-EXCEL file?

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">.com</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">.xls</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">.doc</span>
D. .<span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">txt</span>

5 Normally, floppy drive is designated as

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">A:\</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">F:\</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">C:\</span>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">E:\</span>

6 In DOS, a user communicates with the operating system by issuing:

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Routines</span>
B. <label for="answer-id-5864"
id="answer-label-5864" class="
answer" style="box-sizing: border-box;
display: inline-block; max-width:
calc(100% - 2.25em); margin: 0px;
font-weight: 700; padding: 0px;
cursor: pointer; width: auto; vertical-
align: text-top; color: rgb(71, 66, 93);
font-family: Poppins;"><span
style="box-sizing: border-
box;">Instructions</span></label>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Procedures</span>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Commands</span>

7 The decimal number 27 is equal to the binary number:

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">110110</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">011011</span>
C. <b>11011</b>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">0101010</span>

8 Which is not a part of CPU?
A. Ram
B. Rom
C. Motherboard



8 Which is not a part of CPU? C. Motherboard
D. Mouse

9 Key used to cancel an operation is

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Caps lock</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Arrow</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Esc</span>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Num lock</span>

10 Which one is an application software?

A. <label for="answer-id-5374"
id="answer-label-5374" class="
answer" style="box-sizing: border-box;
display: inline-block; max-width:
calc(100% - 2.25em); margin: 0px;
font-weight: 700; padding: 0px;
cursor: pointer; width: auto; vertical-
align: text-top; color: rgb(71, 66, 93);
font-family: Poppins;"><span
style="box-sizing: border-
box;">Windows</span></label>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">MS-Excel</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Linux</span>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">DOS</span>

11 (011)4752105 is:

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Numeric data</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Alphanumeric data</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Alphabetic data</span>
D. <label for="answer-id-5753"
id="answer-label-5753" class="
answer" style="box-sizing: border-box;
display: inline-block; max-width:
calc(100% - 2.25em); margin: 0px;
font-weight: 700; padding: 0px;
cursor: pointer; width: auto; vertical-
align: text-top; color: rgb(71, 66, 93);
font-family: Poppins;"><span
style="box-sizing: border-box;">Text
data</span></label>

12 Decimal value of 2‾¹ is equal to
A. 0.5
B. 0.25
C. 1
D. 0.75

13 There are types of low languages?
A. 2
B. 3
C. 4
D. 5

14 Computer Virus is simply a:

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Disease</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Bacteria</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Hardware</span>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Computer code</span>

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">SRAM</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">PRAM</span>
C. <label for="answer-id-5748"
id="answer-label-5748" class="
answer" style="box-sizing: border-box;



15 The type of ROM is:
answer" style="box-sizing: border-box;
display: inline-block; max-width:
calc(100% - 2.25em); margin: 0px;
font-weight: 700; padding: 0px;
cursor: pointer; width: auto; vertical-
align: text-top; color: rgb(71, 66, 93);
font-family: Poppins;"><span
style="box-sizing: border-
box;">PROM</span></label>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">RAM</span>

16 The cell of memory are logically organized into group of:

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">8 bits</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">24 bits</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">16 bits</span>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">12 bits</span>

17 When the user clicks and drags a file to another folder on same drive, the fileis:

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Copied</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Deleted</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Moved</span>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Renamed</span>

18 How many characters in ASCII 8-bit code can represent?

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">1000 characters</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">100 characters</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">2000 characters</span>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">3000 characters</span>

19 Fortran was developed in
A. 1950
B. 1957
C. 1960
D. 1967

20 Which type of memory uses the chips that retain the contents indefinitely withoutconstant electronic
refreshment:

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Sram</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Rom</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">R</span><span style="color:
rgb(71, 66, 93); font-family:
Poppins;"><b>om</b></span>
D. <b>None of this</b>

21 Fifth generation computing devices based on:

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">quantum computation</span>
B. <div class="watupro-question-
choice " dir="auto" style="box-sizing:
border-box; width: 1090px; line-
height: normal; color: rgb(71, 66, 93);
font-family: Poppins; margin-top:
0.438em !important; margin-bottom:
0.438em !important;"><label
for="answer-id-4763" id="answer-
label-4763" class=" answer"
style="box-sizing: border-box; display:
inline-block; max-width: calc(100% -
2.25em); margin: 0px; font-weight:
700; padding: 0px; cursor: pointer;
width: auto; vertical-align: text-top;">
<span style="box-sizing: border-
box;">artificial intelligence</span>
</label></div>
C. <div class="watupro-question-



C. <div class="watupro-question-
choice " dir="auto" style="box-sizing:
border-box; width: 1090px; line-
height: normal; color: rgb(71, 66, 93);
font-family: Poppins; margin-top:
0.438em !important; margin-bottom:
0.438em !important;"><span
style="font-weight: 700;">nano
technology</span></div>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">hybrid computers</span>

22 which is not a part of computer system?

A. Ram
B. ROm
C. zxc
D. czx
E. czx

23 Which of the following is not a high level language?
A. Fortran
B. Basic
C. C and C++
D. Assembly Language

24 Which command removes directory along with all files and subdirectories in it?
A. Del
B. Del&amp; Deltree
C. Deltree
D. RD

25 Which input device is used to enter voice data

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Scanner</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Microphone</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Mouse</span>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Keyboard</span>

26 The most popular operating system for personal computer is:

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">DOS</span>
B. <b>UNIX</b>
C. <b>WINDOWS</b>
D. <b>LINUX</b>

27 The third generation computer used?
A. Vacuum Tubes
B. Integrated Circuit
C. Transistors
D. Microprocessors

28 Which provides command line interface to the user?

A. Window
B. Folder
C. Drive
D. DOS

29 Which command is used to make a new Directory?

A. <label for="answer-id-5802"
id="answer-label-5802" class="
answer" style="box-sizing: border-box;
display: inline-block; max-width:
calc(100% - 2.25em); margin: 0px;
font-weight: 700; padding: 0px;
cursor: pointer; width: auto; vertical-
align: text-top; color: rgb(71, 66, 93);
font-family: Poppins;"><span
style="box-sizing: border-
box;">CD</span></label>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">RD</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">MD</span>
D. <b>AD</b>

30 What is the size of a standard floppy disc?

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">31/2"</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">41/2"</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">59/2"</span>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">1/2"</span>



700;">1/2"</span>

31 A + O is equal to:

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">O</span>
B. A
C. OI
D. A


